VARIANT 1
1. Read and translate the text
Computers are electronic machines. They communicate with theuser, perform different kinds of arithmetic operations, such as addi​tion, subtraction, division and multiplication, solve a series of logi​cal problems and make thousands of logical decisions. Modern com​puters operate quickly and accurately. However, they don't think.
Every computer consists of software and hardware. Information in the form of programmes and data is called software, but the pieces of equipment that make up the computer system are known as hard​ware.
The most important item of hardware is the CPU (Central Processing Unit)- This is the electronic unit at the centre of the com​puter system. The brain of the computer is the processor. It does all the processing and controls all the devices in the computer system. The main memory stores all the programmes and data used by the processor.
The Internet is a global computer network that embraces millions of users all over the world. It dates back to 1969 when it began1 as a military experiment. Information that people send over the Internet takes the shortest path available from one computer to another. Because of this, any two computers on the Internet stay in touch with each other as long as there is a single route between them. This tech​nology is called packet switching network2. Owing to this technology, if some computers on the network fail, the information just routes around them.
One of the most popular Internet services is e-mail. Most of the people, who have access to the Internet, use the network only for sending and receiving e-mail messages. However, other popular ser​vices are available on the Internet: reading USENET News, using the World-Wide Web and Intranet.
However, some problems remain. The most important is security. When you send an e-mail message to somebody, this message travels through many different networks and computers. Special computers that are called routers3 direct the data towards its destination. That is why it becomes possible to get into any of computers along the route and even change the data that we send over the Internet. This happens because the Internet transmits nearly all the information, which we send without any form of encoding.

1 начался

2 сеть коммуникации пакетов

3 маршрутизаторы
2. Answer the questions
1.  What are computers?
2.  What operations do computers perform?
3.  Is a computer a simple electronic machine? Why / why not?
4.  What popular Internet services do you know?

5.  Do you often use the Internet? What for?
3. Say whether the following sentences are true or false. Correct the false sentences.
1. Only one million people use the Internet.
2. The most popular Internet service is e-mail.
3.  People use the Internet only for sending and receiving e-mail messages.
4.  It is impossible to get into any of computers along the route.
5.  There is a special form of encoding with the help of which the Internet transmits nearly all the information.
4. Complete the sentences.

.
1. First-... computers ... 5,000 ... and 1,000 ... . 2. The ...-generation ... performed ... ten times faster than the ...-generation__3. Second-generation computers used ... instead of.......4. Many companies ...
their computers into ... .5. Future computers ... probably... data with
the help of ... of laser light. 6. Some experts predict that......will... a
large role in education.

5. Writing

  Describe the computer you would like to have in the future.
VARIANT 2.

1. Read and translate the text
Let's have a look at the history of computers. The first general-purpose electronic digital computer came out in the USA in 1946. It was called ENIAC (Electronic Numerical Integrator And Computer). ENIAC contained about 18,000 vacuum tubes, weighed more than 30 tons, occupied more than 1,500 square feet of floor space, and con​sumed 150 kilowatts of electricity during operation. The first-gene​ration computer performed about 5,000 additions and 1,000 multi​plications per second and was slow in comparison with modern machines. In the late 1950s the second generation of computers appeared and these performed work ten times faster than the first computers. The reason for this extra speed was the use of transistors instead of vacuum tubes. The third-generation computers appeared in 1965. They performed a million calculations per second, which was 1000 times as many as first-generation computers. Now tiny inte​grated circuits controlled computers.
By the late 1960s many large businesses depended on computers. Many companies linked their computers into networks and that made it possible for different offices to share information. During this time computer technology improved rapidly. In the 1970s there appeared a microprocessor. And in 1975 American engineers devised the first personal computer, Altair. Millions of individuals, families and schools began to use PCs.
Present-day computers complete millions of instructions per sec​ond. Some experts predict that a new generation of intelligent machines will process data with the help of beams of laser light, rather than electric current. They say that these computers will store data on individual molecules and that virtual reality will play a large role in education.

2. Answer the questions
1.  When did the first generation of computers appear?
2.  The first-generation computers used vacuum tubes, didn't they?
3. What did the second-generation computers use instead of vacuum
tubes?
4.  How did the computers of the third generation differ from those of the first and the second generations?
5. Do we have computers that complete millions of operations per second?
6.  What was the first PC called?
3. Complete the sentences.

1. First-... computers ... 5,000 ... and 1,000 ... . 2. The ...-generation ... performed ... ten times faster than the ...-generation .... 3. Second-generation computers used ... instead of.......4. Many companies ...
their computers into .... 5. Future computers ... probably ... data with
the help of ... of laser light. 6. Some experts predict that......will... a
large role in education.

4.  Expand these sentences with the information form the text.
1. First-generation computers were slow.
2.  Second-generation computers used transistors.
3.  There were many improvements in the third generation of com​puters.
4.  People became dependent on computers.
5.  Computers of the future will be better.

  5. Writing.
Write two paragraphs, one about the advantages and the other about the disadvantages of 
Computers.
VARIANT 3.
 1. Read and translate the text.
Although the development of robots seems a very modern idea, the principles behind this new technology were known thousands of years ago. Even ancient Greeks and Romans used mechanical cogs and gears which are now an essential part of robot technology. In the Middle Ages there was a real breakthrough in the development of robot engineering. At that time many types of mechanical devices appeared. At the end of the 17th century engineers already knew about most of the mechanical components that make up a modern robot.
Throughout history inventors have produced a variety of seemingly magical mechanical devices capable of quite life-like actions. These devices were not programmable, they were simply per​forming a set of operations. Different scientists and engineers have applied many advances in this field since that time.
Today’s robot is a very complex structure. A metal or plastic frame serves for a skeleton, and a variety of actuators provide muscle power. But the new humanoids are not just bodies, they are also sophisticated sensing machines with cameras, microphones, even specific sensors that imitate the sense of touch. And then there are the brains. Nowadays scientists haven’t yet created such a robot that can think. But who knows, maybe in the future it will not only resemble a human being in appearance but will also have the capaci​ty to think and feel.
2. Answer the questions.
1. When did people learn the main principles of robot technology?
2.  Did ancient Greeks and Romans know anything about robots?
3. When did engineers learn about most of the mechanical compo​nents of a robot?
4.  Is today's robot a simple structure?
5.  Would you like to have a robot friend?
3. Complete the sentences.

1. Today the students ... some facts about ... history. 2. Ancient Greeks and Romans used ... cogs and gears which are now an ... part of ... .3. At the end of the 17th century engineers already knew about most of the ... that... a modern robot.4. Throughout history ... have ... a variety of seemingly magical ... devices. 5. These devices were simply ... a ... of operations. 7. A robot consists of a metal or plastic ... and a variety of ... provide muscle ... .8. Today's robots are sophisti​cated ... machines that have ..., microphones and specific ... that imi​tate the ... of ... .
4. Expand these sentences with the facts from the text.

1. The basic principles of robot technology were known thousands of years ago.
2. The Middle Ages produced advances in robot technology.
3.  There were many mechanical devices in the past.
4. A modern robot is a complex engineering structure.
5. It's difficult to predict what the robots of the future will look like.
5. Writing
Write an essay’’ Where and how we can use Man-made Man.”
VARIANT 4.
I1. Read and translate the text.
When engineers devised a steam engine in the 18th century, some people said that they had already invented everything pos​sible. However, our mankind has produced a great number of other inventions since that time. Robots are one of them.
Nowadays people use 90% of robots for heavy, repetitive manufacturing work. These robots handle tasks that are difficult, dangerous or boring to human beings.
The most common manufacturing robot is the robotic arm. It typically consists of seven metal segments. Tiny motors or actuators put them into opera​tion when a special computer gives them certain instructions.
An industrial robotic arm with six joints closely resembles a human arm - it has the equivalent of a shoulder, an elbow and a wrist. This type of robot has six degrees of freedom, i.e. it can turn in six different ways. A human arm, by comparison, has seven degrees of freedom. Your arm moves your hand from place to place. Similarly, the robotic arm moves an end effector from place to place. You can supply robotic arms with all sorts of end effectors, which will per​form a certain task, for example it will grasp and carry different objects. Robotic hands often have built-in pressure sensors that tell the computer how hard the robot is gripping a particular object. That's why the robot doesn't drop or break whatever it's carrying. Robots do their work more efficiently than human beings because they are so precise. They always drill in the exactly the same place, and they always tighten bolts with the same amount of force, no mat​ter how many hours they've been in operation.
2. Answer the questions.
1. Can you imagine the present life without robots?
2. What is a robot?
3.  Do we depend on robots a lot today? 
4. What kinds of tasks can robots do?
5. Why do robots do their work more efficiently?
3. Say whether these statements are true or false. Correct the false ones.
1.  When engineers created a robot some people said that they had already created everything possible.
2.  Engineers build 90% of robots for entertainment nowadays.
3. The most widely-spread manufacturing robot is the robotic arm.
4.  You can supply the robotic arm with various actuators.
5.  A special programmer in the computer tells the robot not to drop the object it is carrying.
6. Robots are more efficient in their work than human beings because they are smarter.
4. Expand these sentences with the facts from the text.
1.  People use robots in industry for various reasons..
2.  The robotic arm resembles a human arm.
3.  The end-effectors in the robotic arm perform different tasks.
4.  Robotic hands often have built-in pressure sensors.
5.  Robots are very precise in their work.
    5. Writing.
  Describe the robot you would like to have in the future.
